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SECTION A (40 marks)

- T e 3 aces provided.
Answer all the questions in this seclion 11 the spaces p

i (2 marks)
List four input devices used to capture data by way of scanning.
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Explain two consequences of not restricting the use of USB flash drives In a school computer

(4 marks)
laboratory.
Differentiate between a computer power cable and a computer interface cable. (2 marks)

Explain two computer hardware features that may be considered when selecting a laptop

computer to be used when developing a KCSE computer studies project. (4 marks)



[ist two examples of operating systems that are not capable of supporting computer network
v 3
(2 marks)
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6. Explain each of the following functions of an operating system:

(a)  Process scheduling:

.......................................
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(b)  Interrupt handling (2

A marks)
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T Give two examples of each of the following application packages:

(a)  Databases:
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(b)  Word processing; ‘
...............
i A R SRR i
R PRI AR
..............
...... b
T e s PR S (L e
l" .
' 4 3
A
.......
IO ER R e A S S T IR

Secondary Education, 2020
451/1

Kenya Certificate of
Tarn over



697

=
o
(=]
<

(c) Desktop publishing.

......................
.....

..............
............................................................................

i ' i inac er device link
8. State two ways of preventing children from accessing adult content in a computer (2 m:i\ked)
arks

to the internet.

........................

9. A health centre stores patient’s details in a computer. State two ways of maintaining
confidentiality of the information. (2 marks)
10.  Convert the decimal number 9.25, to its binary number equivalent. (3 marks)
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11. Explain the meaning of the term “distributed data processing™ as used in computers. (2 marks)
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12.  The area of a triangle is obtained using the formula: area = ¥ base X height. Draw a flowchart

that captures the input from a user, computes the area of the triangle and displays the results.
(3 marks)
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uestionnaire in system development.

13.  State two circumstances that may necessitate the use of a q
(2 marks)
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14.

15.

k. State two ways thTOugh
implementing the network
(2 marks)

An organisation opted to connect their computers to form a networ
which the organisation may save on the costs of their operations upon

.....................................
........

..................................................

...............

....................
..........

State three benefits that may be realised by using [CT to manage automobile traffic operations.
(3 marks)
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A private college intends to offer training on computer packages to a class consisting
of 25 students. Each student is required to pay Ksh 2 000 for this training. A discount o
14% is awarded to each student who will have paid full fees by the opening date of th
new term.,

Write a pseudocode that captures fees paid by each student. determine whether th
student is eligible for the discount, computes the total fees collected and the total discour
awarded. (8 mark:



(b)

Explain three benefits of using twisted pair cables in a local area network. (6 marks)
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...............................................................................................................................

Charles has linked five computers at his home using star topology.

(i) Draw a diagram representation for this topology.

(ii)  State three reasons that may have prompted him to use this topology. (3 marks)
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(iii)  Explain two requirements for connecting the network to the internet. (4 marks)

......................................................................................

18. (a)  Explain three ways through which advancement in ICT has benefited national security.
(6 marks)
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(b)

(©)

11

Conv i
nvert the binary number 1101.011, to its decimal number equivalent
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(3 marks)

...................

--------------------

A tea i
cher entered test scores in a spreadsheet in the cells range C4 to C38. State the

formula that should be used to:

(1) compute each of the following scores:
L. mean of the scores. (1 mark)
I1. number of scores whose values exceed 30. (2 marks)

(ii)  display the text

“FAIL” if OtheI'WiSG
S
sehens cevsssenrararase earsrmrassnassssrananas SRR RSN PSR R e SR AN vesssremsbarAsRRse SRRSO TS
ipieesnstsanspissabnynTanads casesnaraens censnrssessaansass caabmanisd eeressssssasansareenss s
cremesesansnaarnenanane semsarrsasane o ms AR AR FORTPROpR ey 3 ceeassinnrressatrasssatuTasE
snnnennyes caeseranss ianms kAR MRS CivaseaNemaR e KINARIANTAES

“pPASS™ if the score is greater than or equal to 30 and the text

(3 marks)

-------------------------
-------------------------
--------------------------

--------------------------
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’ . . e ities in a computer:
19. (a) State the unit of measure for each of the following quanti p

(l) e SpeCd: ................................................. ( l mark]
e Memor}capacm ................... ( lmdm
= Datatransmmsmmpwd .............................. (lmar]\)
: Exp]amthreefumuonsofaqummadatabase ............ LTS (A (6marks)
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(¢) Peter created it
olders named ENG MATHS WA
STUDIES. 3 HS and S HILI i s m
I In the folder ENG, he created the folders LIT and LANG V\l;ﬂ: infgi: LSr'\Nr}]\aHIi(i

folder. he created LUGHA and FASIHI.

1 I - al

(ii)  Given that the STUDIES folder is in the root directory of drive D, write the path
for a file named REVISION.DOC stored in the LUGHA folder. (2 marks)

------------------------------------------------------------------------------------------------------------------------
------------------------------------------------------------------------------------------------------------------
-----------

-----------------
---------------------------------------------------------------------------------------
e
sEssspransENsTeasebBEe
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. :nts in a computer lab :
Explain three ways through which computer components in a comp Oratory mgy
(6 marks)

20. (a)
be protected against theft.
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(b)  Computer studies subject has become an essential component of many professions.
State three benefits of computer knowledge to an engineer. (3 marks)
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P

A school opt s 3
technology pEeS ;0_ provide internet to users in the school through the use of wireless
Y. Explain three challenges that the school may face by using this form of

technolo A4
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